y = ax?

_ M

By dx O2FICHBIL, ROEBEZRZTEE, yEx DX TRLAI W,

D x=50L & y=-20

@ x=—4DL % y=8

B x=9DL%x y=27

@ x

—lotZxy=—4

® x=3DLt % y=-27

© x=—50t % y=15

@D x=20t & y=20

® x=30&L&y=-9

/12

@D x=—4Dt % y=—12

0 x=—3D& % y=18

) x=—20& % y=32

@ x=50&L & y=—5




i # 2w

y=ax?
/12

Wy dx D2FICHAL., ROFEHZHTTLE, y2xDATRLAEI WV,

D x=5D0L % y=—20 ® x=30DL & y=—27 @ x=—4DL % y=—12
y=ax’* B y=ax’* B y=ax’* B
x=5y=—20%fCAL T x=3,y=—27%fLAL T x=—4,y=—12 %A LT
—20 = 25a —27 =9a —12 = 16a

__4 a= -3 __3
775 “ 4
— _i 2 — 2 — _i 2
y 5 y 3x y X

@ x=—4DL % y=8
y=ax* Lk
x=—4,y=8 ZRALT
8 = 16a

@ x=9D& & y=27
y=ax* B
x=9,y=27 #fRA LT
27 = 8la

@D x=—10t % y=—4
y=ax’* B &
x=—1,y=—4%fRALT

© x=—50t % y=15

y=ax’* B &
x=-5y=15Z{fRA LT
15 = 25a
3
5
y=%xz

@D x=2DL % y=20
y=ax* B
x=2,y=20 LA LT
20 = 4a
a=>5

® x=3DL % y=—9

y=ax’* B L&
x=3,y=—9%fLAL T
—9=9a
a=—1

y=-x

x=—3D& % y=18
y=ax* B
x=—3,y=18 #fLALT
18 = 9a

a=2

) x=—2Dk & y=32
y=ax’* £H L
x=—2,y=32 #fLALT
32 =4a
a=38

@ x=5DL % y=-5

y=ax’* £B L
x=5y=—-5%fR{ALT
—5 = 25a
1

5




